>> %Clase Introductoria de Matlab

>> a=3
a =
     3
>> a^0.5
ans =
    1.7321
>> (a-8)^0.5
ans =
   0.0000 + 2.2361i
>> a
a =
     3
>> b=a*2
b =
     6
>> whos
  Name      Size            Bytes  Class     Attributes
  a         1x1                 8  double              
  ans       1x1                16  double    complex   
  b         1x1                 8  double              
>> b
b =
     6
>> %Operaciones válidas: +-*/\^     & | ~
>> clear b
>> whos
  Name      Size            Bytes  Class     Attributes
  a         1x1                 8  double              
  ans       1x1                16  double    complex   
>> clear all
>> whos
>> 3/4
ans =
    0.7500
>> 3\4
ans =
    1.3333
>> %Operadores relacionales: > < >= <=  == ~=
>> 3==4
ans =
     0
>> (3>2) +  (4~=5) + (7>3)
ans =
     3
>> 8  & (3>2)
ans =
     1
>> a=[2 3; 4 5]
a =
     2     3
     4     5
>> a^2
ans =
    16    21
    28    37
>> a.^2
ans =
     4     9
    16    25
>> a
a =
     2     3
     4     5
>> b=a^0.5
b =
   0.8127 + 0.3663i   1.0718 - 0.2083i
   1.4290 - 0.2778i   1.8845 + 0.1580i
>> b*b
ans =
   2.0000 - 0.0000i   3.0000          
   4.0000 - 0.0000i   5.0000 - 0.0000i
>> a
a =
     2     3
     4     5
>> sum(a)
ans =
     6     8
>> b=[1 5; -2 8]
b =
     1     5
    -2     8
>> a+b
ans =
     3     8
     2    13
>> a*b
ans =
    -4    34
    -6    60
>> c=b^-1
c =
    0.4444   -0.2778
    0.1111    0.0556
>> c=inv(b)
c =
    0.4444   -0.2778
    0.1111    0.0556
>> b*c
ans =
     1     0
     0     1
>> b
b =
     1     5
    -2     8
>> det(b)
ans =
    18
>> x=[ 2 4 2 1 5]
x =
     2     4     2     1     5
>> sum(x)
ans =
    14
>> x^2
??? Error using ==> mpower
Inputs must be a scalar and a square matrix.
>> x*x'
ans =
    50
>> x.^2
ans =
     4    16     4     1    25
>> x
x =
     2     4     2     1     5
>> x>2
ans =
     0     1     0     0     1
>> x>2 & x<5
ans =
     0     1     0     0     0
>> %cuantos elementos de x son > a 2
>> sum(x>2)
ans =
     2
>> format long
>> pi
ans =
   3.141592653589793
>> format rat
>> pi
ans =
     355/113   
>> format
>> pi
ans =
    3.1416
>> %Redondeos:
>> floor(3.9)
ans =
     3
>> ceil(3.0001)
ans =
     4
>> fix(3.1)
ans =
     3
>> floor(-3.1)
ans =
    -4
>> fix(-3.1)
ans =
    -3
>> round(3.1)
ans =
     3
>> round(3.9)
ans =
     4
>> pi
ans =
    3.1416
>> format long
>> pi
ans =
   3.141592653589793
>> round(pi*1000)
ans =
        3142
>> round(pi*1000)/1000
ans =
   3.142000000000000
